Miss Hughes group —

4a. Simon has _?_ of a cake.

He gives Toby four-twelfths of the cake.

How many twelfths does he have left?

PS

4b. Leo has __ of a chocolate bar.

He gives Lottie seven-tenths of the bar.

How many tenths does he have left?

5a. Is Remi correct?

3 8
| subtract =— from — .
9 9
Syrie has % .

| have more than Syrie.

Explain why.

5b. Is Amit correct?

o

| subtract 2 from e .
8 8

':u:‘ Harlow has 4 .
— 8
n | have less than Harlow.
Amit
Explain why.

6a. Choose fractions to make the part
whole model correct.

2 5

2 S 1 3
12 12 12

12

6b. Choose fractions to make the part
whole model correct.

10 1 4 3
10 10 10 10




